Kathy Scott
Study Guide Questions

Example 11-39

Run a regression of profits against revenues and number of employees for the airline industry using the data in the following table. Interpret all your findings.

	Profit
	Revenue
	Employees

	($ Billion)
	($ Billion)
	Thousands)

	-1.2
	17
	96

	-2.8
	13
	68

	-0.2
	13
	70

	0.2
	9.5
	39

	0.03
	8.8
	38

	1.4
	6.8
	32

	0.4
	5.9
	33

	0.01
	2.4
	13

	0.06
	2.3
	11

	0.1
	1.3
	6


Example 11-86
Regress Y against X1, X2 and X3 with the following sample data.

	Y
	X1
	X2
	X3

	13.79
	76.45
	44.47
	8

	21.23
	24.37
	37.45
	7.56

	66.49
	98.46
	95.04
	19

	35.97
	49.21
	2.17
	0.44

	37.88
	76.12
	36.75
	7.5

	72.7
	82.93
	42.83
	8.74

	81.73
	23.04
	82.17
	16.51

	58.91
	80.98
	7.84
	1.59

	30.47
	47.45
	88.58
	17.86

	8.51
	65.09
	25.59
	5.12

	39.96
	44.82
	74.93
	15.05

	67.85
	85.17
	55.7
	11.16

	10.77
	27.71
	30.6
	6.23

	72.3
	62.32
	12.97
	2.28


a. What is the regression equation?

b. Change the first observation of X3 from 8.00 to 9.00.  Repeat the regression .  What is the new regression equation?

c. Compare the old and the new regression equations.  Does the comparison prove multicollinearity in the data>  What is your suggestion for getting rid of the multicollinearity> 

d. Looking at the results of the original regression only, could you have figured out that there is a multicollinearity problem? How?

Example 11-113

An article in Psychology and Marketing describes four variables that have been found to impact the effectiveness of commercials for high-performance automobiles: sincerity, excitement, ruggedness, and sophistication.  Suppose that the following data are available on commercials effectiveness and these variables, all on appropriate scales.
	Commercial
	Assessed
	Assessed
	Assessed
	Assessed

	Effectiveness
	Sincerity
	Excitement
	Ruggedness
	Sophistication

	75
	12
	50
	32
	17

	80
	10
	55
	32
	18

	71
	20
	48
	33
	16

	90
	15
	57
	32
	15

	92
	21
	56
	34
	19

	60
	17
	42
	33
	14

	58
	18
	41
	30
	16

	65
	22
	49
	31
	18

	81
	20
	54
	30
	19

	90
	14
	58
	33
	11

	95
	10
	59
	31
	12

	76
	17
	51
	30
	20

	61
	21
	42
	29
	11


Is there a regression relation here between commercial effectiveness and any of the independent variables?  Explain
Example 14-65

Two telecommunications systems are to be compared.  A random sample of 14 users of one system independently rate the system on a scale of 0 to 100.  An independent random sample of 12 users of the other system rate their system on the same scale.  The data are as follows: 

	System
	System 

	A
	B

	65
	45

	67
	57

	83
	76

	39
	54

	45
	60

	20
	72

	95
	34

	64
	50

	99
	63

	98
	39

	76
	44

	78
	70

	82
	

	90
	


Based on these data, are the two telecommunication systems equally like?  Explain.

Example 14-68

In a chi-square analysis, the expected count in one of the cells is 2.1.  Can you conduct the analysis? If not, what can be done?

